Consider this ARM ADD instruction. The rotate bits, which are highlighted, are first multiplied by two.
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The instruction is equivalentto ADD rl, rl, 0x00000770




The rotate field (highlighted below), when multiplied by two, is equal to 28.
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Now, to get the 32 bit immediate, the 8 bit immediate field from the instruction must be rotated 28 bits to the right with wraparound.
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Now, to get the 32 bit immediate, the 8 bit immediate field from the instruction must be rotated 28 bits to the right with wraparound.

31

30 29 28 27 26 25 24 23 22 21

20

19

18

17

16

15

14

13

12

11

10

9

8

7

6

1

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0

0
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This 32 bit immediate will now be used for the ADD instruction in the first slide. The immediate is equal to 0x00000770.
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